


2. thg 114 DE//BC & uf, x o] 32 Fatelet

x:15=14:30.. x=17




3. TS 199 AABC 9|4 /BAD = /DAC & o, x ¢ 2k F5tojet

AB:AC=BD:CD°|E& x:18 =2: 30|t} wabA] x =12
o|ch.




4.  AABC 9f|A /A 9 o] 541 ¥ BC ¢ S D 2t & uf, AABD
9] Yo7} 24cm? o|H, AADC 9] Ho]Z {slolzt},

>
> HeHl 36cm?

B

AB :AC = BD :DC °o|B&2

BD :DC=8:12=2:3

w2bA AABD ¢ aAADC 9] Wol9] Hli=2: 3 o]t}
AADC O] Ho]E x2t5lH 2:3=24: x| 22

x = 36(cm?) o]t}

w2t AADC 9] HolE= 36 cm? o]t




5. S 2HIHAD 7t LA 9] 9]7He] o] 5B MY uf, AB 2 Fstojat.

AB==x em2tal oFH x: 4= (2+8): 8 0|E=R
x=5




